
Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

Guide Rail - Anchor Steel
1 2'-3" Dia Malleable Iron Anchor      217-B EA. _____ $__________
2 Percentage off Guide Rail - Anchor Steel items not listed above ______%

Guide Rail - Concrete Anchors and Barrier
3 20' Temporary Precast Concrete Barrier Curb      HW-822_01 EA. _____ $__________
4 Precast Concrete Anchor Block for Merritt Parkway HW-910_12d EA. _____ $__________
5 3'-1" x 3'-1" Precast Concrete End Anchor for median with anchor hardware   HW-910_18 EA. _____ $__________
6 3'-1" x 3'-1" Precast Concrete End Anchor Type II (10:1 sloped top) with hardware    HW-910_19b EA. _____ $__________
7 3'-1" x 3'-1" Precast Concrete End Anchor for Earth Cut Slope with hardware   HW-911_03 EA. _____ $__________
8 3' x 3' Precast Anchor Block ( Type I ) with hardware ( Detail A)   HW-911_05 EA. _____ $__________
9 3' x 3' Precast Anchor Block ( Type I ) with hardware ( Detail B)   HW-911_05 EA. _____ $__________
10 2' x 2' x 6" Precast Concrete Anchor       217-B EA. _____ $__________
11 2'-6" x 2'-6" x 1' Precast Concrete Anchor for Three Cable Guide Rail  217-C EA. _____ $__________
12 5' x 5' x 6" Class 'A' Precast Concrete Anchor for Three Cable (Steel Post) 217-C EA. _____ $__________
13 Percentage off Guide Rail - Concrete Anchors & Barriers not listed above ______%

Guide Rail - Delineators
14 5" White Delineator for W-Beam with 5/8" Dia x 2" Buttonhead Bolt with Nut   HW-910_01 EA. _____ $__________
15 5" Yellow Delineator for W-Beam with 5/8" Dia x 2" Buttonhead Bolt with Nut    HW-910_01 EA. _____ $__________
16 White Delineator  (Detail "F") for 8" x 6" Box Beam with 3/8" Dia x 7 1/2" with Nut and two Washers HW-910_10 EA. _____ $__________
17 Yellow Delineator  (Detail "F") for 8" x 6" Box Beam with 3/8" Dia x 7 1/2" with Nut and two Washers  HW-910_10 EA. _____ $__________
18 2" x 3" x 4 1/4" Tee Delineator with White retroreflective sheeting for Merritt Parkway with 1/2" Dia. Wood Screws  HW-910_12b EA. _____ $__________
19 2" x 3" x 4 1/4" Tee Delineator with Yellow retroreflective sheeting for Merritt Parkway with 1/2" Dia. Wood Screws   HW-910_12b EA. _____ $__________
20 12" x 6" Type II Object Marker (sign #51-5030) with post HW-910_19b EA. _____ $__________
21 White Aluminum Three Cable Delineator  (Detail C) with 2- 3/4" Dia. x 1/4" Mushroom Head Aluminum Rivet HW-918_01a EA. _____ $__________
22 Yellow Aluminum Three Cable Delineator ( Detail C) with 2- 3/4" Dia. x 1/4" Mushroom Head Aluminum Rivet HW-918_01a EA. _____ $__________
23 1" x 6" Two Cable (40 GA.) Retroreflective strip (white) with roofing nails 217-B EA. _____ $__________
24 1" x 6" Two Cable (40 GA.) Retroreflective strip (yellow) with roofing nails 217-B _____ $__________
25 Percentage off Guide Rail - Delineators not listed above ______%

Guide Rail - Hardware
26 5/8" Dia. x 10" Buttonhead Bolt with Nut (Post Bolt for R-B 350, MD-B 350 and Thrie Beam Guarderail) HW-910_01 EA. _____ $__________
27 5/8" Dia. x 1-1/4" Buttonhead Bolt with Nut (W-Beam Splice Bolt)  HW-910_01 EA. _____ $__________
28 5/8" Dia. x 2" Buttonhead Bolt with Nut (Post Bolt for R-B 350 System 6 Rubrail)   HW-910_01 EA. _____ $__________
29 5/8" Dia x 18" Buttonhead Bolt with Nut (Post Bolt for 2 Plastic Blockouts (R-B 350) Section C)  HW-910_02 EA. _____ $__________
30 5/8" Dia x 26" Buttonhead Bolt with Nut (Post Bolt for 3 Plastic Blockouts (R-B 350) General Note 5.)  HW-910_02 EA. _____ $__________
31 16 d Double Head Nail ( For Control Release Timber (CRT) Post)    HW-910_05 EA. _____ $__________
32 5/8" Dia x 3" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 4)     HW-910_06 EA. _____ $__________
33 5/8" Dia. X 14" Buttonhead Bolt with Round Washer and Nut (For Steel Post w/12" Plastic Blockout) HW-910_05 EA. _____ $__________
34 5/8" Dia. X 22" Button Head Bolt with Round Washer and Nut (For Control Release Timber (CRT) Post)    HW-910_05 EA. _____ $__________
35 5/8" Dia x 5" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 2)      HW-910_06 EA. _____ $__________
36 5/8" Dia x 6" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 3)      HW-910_06 EA. _____ $__________
37 5/8" Dia x 9" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 1)     HW-910_06 EA. _____ $__________
38 5/8" Dia. X 1 1/4" Buttonhead Bolt, Nut with Rectangular Plate Washer (Note 4)    HW-910_06 EA. _____ $__________
39 5/8" Dia. X 3" Lag Bolt ( For Sloped Plastic Rubrail Blockout)   HW-910_06 EA. _____ $__________
40 5/8" Dia. x 4 1/2" Buttonhead Bolt with Nut (To secure rubrail to post #5)    HW-910_06 EA. _____ $__________
41 5/8" Dia. x 6" Bolt with Washer and Nut, ( Note 8 Chemically Anchored for Rubrail)       HW-910_06 EA. _____ $__________
42 7/8" Dia. x 12" Bolt with Washer and Nut, (Note 8 Chemically Anchored for W-Beam Terminal Connector)      HW-910_06 EA. _____ $__________
43 5/8" Dia x 1 1/4" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 5)    HW-910_07 EA. _____ $__________
44 5/8" Dia x 5" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 4)     HW-910_07 EA. _____ $__________
45 5/8" Dia x 6" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 3)    HW-910_07 EA. _____ $__________

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

Guide Rail - hardware (continued)
46 5/8" Dia x 8" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 2)     HW-910_07 EA. _____ $__________
47 5/8" Dia x 9" Buttonhead Bolt with Nut ( For Plastic Rubrail Blockout Post# 1)     HW-910_07 EA. _____ $__________
48 1" Dia. x 14" Bolt with Washer and Nut, ( Note #3 to be Chemically Anchored)   HW-910_08 EA. _____ $__________
49 3/4"x 4" Hex Head Bolt, Nut with Two Flat washers      HW-910_09a EA. _____ $__________
50 3/4" Dia, 2" Hex Head Bolt with Nut (rail support plate connection)      HW-910_10 EA. _____ $__________
51 3/4" Dia. x 2" Bolt and Nut with washers ( For Splice Plates)      HW-910_10 EA. _____ $__________
52 3/8" Dia. X 7 1/2" Bolt with nut and two washers (Detail F)       HW-910_10 EA. _____ $__________
53 3/4" Dia. x 8 1/2" Round Head Bolt with Hex Nut and Washer    HW-910_12a EA. _____ $__________
54 5/8" Dia. x 12" Round Head Bolt with Hex Nut and Washer    HW-910_12a EA. _____ $__________
55 5/8" Dia. x 15" Round Head Bolt with Hex Nut and Washer   HW-910_12a EA. _____ $__________
56 5/8" Dia. x 6"  Round Head Bolt with Hex Nut and Washer    HW-910_12a EA. _____ $__________
57 1" Dia. X 9" "J" Bolt in Hexnut and washer HW-910_12a EA. _____ $__________
58 1/4" Dia. X 1" Wood (Galv) Screw HW-910_12b EA. _____ $__________
59 3/4" Dia. x 8" Round Head Bolt with Hex Nut and Washer      HW-910_12b EA. _____ $__________
60 5/8" Dia. x 4" Lag Screw     HW-910_12b EA. _____ $__________
61 1/2" Dia. x 4" Lag Screw      HW-910_12c EA. _____ $__________
62 3/4" Dia, 2', Round Head Bolts with nuts and washers   HW-910_12d EA. _____ $__________
63 5/8" Dia, 1 1/2" Carriage Bolt, Fully Threaded, with Nut   HW-910_14a EA. _____ $__________
64 5/8" Dia, 10" Button Head Bolt with Washer and Hex Nut    HW-910_14a EA. _____ $__________
65 5/8" Dia, 3"  Button Head Bolt an Recessed Nut      HW-910_14a EA. _____ $__________
66 7/8" Dia, 16" Hex Head Bolt with Nut and Washer  HW-910_14a EA. _____ $__________
67 5/8" Dia. Beveled washer    HW-910_15 EA. _____ $__________
68 5/8" x 4 1/2" Button Head Bolt    HW-910_15 EA. _____ $__________
69 7/8" Dia. X 1' 1/4" Anchor Bolt (Middle)    HW-910_15 EA. _____ $__________
70 7/8" Dia. X 11 1/2" Anchor Bolt (Top)     HW-910_15 EA. _____ $__________
71 7/8" Dia. X 1'-1" Anchor Bolt (Bottom)   HW-910_15 EA. _____ $__________
72 3" x 1 3/4" Rectangular Plate Washer  (Detail A)      HW-910_17 EA. _____ $__________
73 5/8" Dia. x 6" Hex bolt and nut       HW-910_17 EA. _____ $__________
74 5/8" Dia. x 8" Hex bolt and nut        HW-910_17 EA. _____ $__________
75 5/8" Dia. X 9" Hex Bolt and nut      HW-910_17 EA. _____ $__________
76 8d Common Galvanized Nails    HW-910_17 EA. _____ $__________
77 1 3/4" x 1 3/4" Square Washer    HW-910_18 EA. _____ $__________
78 1" Dia. X 8 3/4" Anchor Bolts       HW-910_18 EA. _____ $__________
79 1/2" Dia. X 1 1/2" Bolt with Two Nuts (Support Bolt)    HW-910_18 EA. _____ $__________
80 3/4" Dia. X 4 1/2" Bolt with Nut and Washers   HW-910_18 EA. _____ $__________
81 5/16" Dia. X 1 1/2" Hex Head Steel Full Body Bolt with Nut  HW-910_18 EA. _____ $__________
82 5/16" Dia, 2 3/8" Fully Threaded Bolt, Double nuts with one round washer    HW-910_19a EA. _____ $__________
83 5/8" Dia, 1 1/4" Splice Bolt ( R-I W Beam Rail) with Hex Nut       HW-910_19a EA. _____ $__________
84 1" Dia. X 3/4" Hex Head Bolt with nut and washer      HW-911_01 EA. _____ $__________
85 1" Dia, 30" Rock Anchor Bolt with Nut and Washer      HW-911_03 EA. _____ $__________
86 1" Dia, 40" Rock Anchor Bolt with Nut and Washer    HW-911_03 EA. _____ $__________
87 3/8" Dia. X 1/4" Hammer Driven Pin Rivet Mushroom Head (Aluminum) Lock Rivet HW-918_01a EA. _____ $__________
88 5/16" Dia. 1 3/4"  ASH Hex, Galvanized Hook Bolt with (2) Nuts ( Detail B)     HW-918_01a EA. _____ $__________
89 3/4" Dia. X 25" "J" Hooks HW-918_01c EA. _____ $__________
90 3" x 1 3/4" x 3/16" Washer ( for R-I rail)      910 EA. _____ $__________
91 1" Dia. x 4" Round Ribbed Washer for Two Cable Guide Rail      217-B EA. _____ $__________
92 1/2" Dia. x 3" Std Lag Screw    217-B EA. _____ $__________
93 1/2" Dia. x 4" Std Lag Screw ( For Intermediate Anchorages)   217-B EA. _____ $__________
94 3/4" Dia. x 3"  Lag Screw  217-B EA. _____ $__________
95 4" Dia. Cast Washer     217-B EA. _____ $__________
96 4" Round Ribbed Washer w/ I" Bolt ( Compensating Type Anchorage)    217-B EA. _____ $__________
97 5/8" Dia. Hex Nut with Washer   217-B EA. _____ $__________



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

Guide Rail - hardware (continued)
98 5/8" Dia. X 8 1/2 Hook Bolt with Washer and Nut 217-B EA. _____ $__________
99 5/8" Dia. X 10 1/2 Hook Bolt with Washer and Nut 217-B EA. _____ $__________
100 7/8" Dia. Special Washer      217-B EA. _____ $__________
101 7/8" Dia.Square Nut       217-B EA. _____ $__________
102 1" Dia. X 1'-4" Standard Bolt - PB205    M EA. _____ $__________
103 10 1/2" Hook Bolts for Type A  Anchorages - PB203    M EA. _____ $__________
104 12 1/2" Hook Bolts for intermediate Anchorages - PB204     M EA. _____ $__________
105 4" Dia Special Washer - P85      M EA. _____ $__________
106 7/8" Dia. X 10" Stud Bolt - PB206     M EA. _____ $__________
107 8 1/2" Hook bolts for Intermediate Supports - PB202       M EA. _____ $__________
108 3/4" Dia, 2" Machine Bolt with Hex Nut      217-C EA. _____ $__________
109 3/4" Dia. X 1 1/2" Galvanized Machine Bolt with Washer and Nut     217-C EA. _____ $__________
110 3/4" Dia. X 4" Black Machine Bolts SQ HD.  with Nut    217-C EA. _____ $__________
111 3/4" Dia. X 5" Black Machine bolts SQ HD. with Nut       217-C EA. _____ $__________
112 4" X 3/8" x 16" Three Cable Galvanized Plate Washer (for location B)      217-C EA. _____ $__________
113 4" X 3/8" x 9" Three Cable Galvanized Plate Washer ( for location C )       217-C EA. _____ $__________
114 14 1/2"  Stay pin (for Offset Bracket Three Cable Guide Rail type B-3-W end anchor)      217-E EA. _____ $__________
115 Anchor Rod Assembly ( includes Turnbuckle, washers and nuts) for steel post     217-E EA. _____ $__________
116 Anchor Rod Assembly ( includes Turnbuckle, washers and nuts) for wood post      217-E EA. _____ $__________
117 1 1/4" Dia. Galvanized Hex Nut     217-D EA. _____ $__________
118 3" x 1/4" x 15" Plate Washer for Location "B"       217-D EA. _____ $__________
119 3" x 1/4" x 9" Plate Washer for Location "C"       217-D EA. _____ $__________
120 3/4" Dia. Galvanized Square Nut with Washers 217-D EA. _____ $__________
121 3/4" Dia. X 10" Machine bolt and Washer     217-D EA. _____ $__________
122 3/4" Dia. x 3" Lag Bolt    217-D EA. _____ $__________
123 3/4" Dia. X 9" Hex Head Bolt with washers and Nut       217-D EA. _____ $__________
124 Special Washer - P121       M EA. _____ $__________
125 Percentage off Guide Rail - Hardware not listed above ______%

Guide Rail - Miscellaneous Parts
126 30"  Connection Rod with hardware (for Temp. Precast Concrete Barrier)      HW-822_01 EA. _____ $__________
127 6"Dia x 9" Steel Spacer Tube ( Detail D)      HW-910_06 EA. _____ $__________
128 2" Dia, 6" Breakaway Terminal Post Sleeve (ARTBA-FMM02)     HW-910_17 EA. _____ $__________
129 3/4" Dia. Cable Anchor (ARTBA-FCAO1)    HW-910_17 EA. _____ $__________
130 TS 8" x 6" x 0.1875" Steel Tube      HW-910_17 EA. _____ $__________
131 L 1/4" x 3" X 4", 8"  ( for MD-I Bearing Clamp)     HW-910_18 EA. _____ $__________
132 WT 15 x 86.5 Beam for Earth Cut Anchor      HW-911_03 EA. _____ $__________
133 3/4" Dia Wire Rope Cable     HW-918_01a EA. _____ $__________

134 Type I End Post Cap (Detail D)
HW-918_01a 
(Plotted date 
9/2010)

EA. _____ $__________

135
Bearing Clamp for Three Cable and RI Anchor       

 

HW-918_01a 
(Plotted date 
9/2010)

EA. _____ $__________

136 1 7/8"  Wedge ( Detail G Wedge for all cable splices and cables fittings)     HW-918_01b EA. _____ $__________
137 Cable Anchor Angle ( Bent or Weld) Bracket      HW-918_01b EA. _____ $__________
138 Cable Splice ( Detail E)      HW-918_01b EA. _____ $__________
139 Spring Cable End Assembly - Compensating Device ( All hardware shown in Detail F)      HW-918_01b EA. _____ $__________
140 Steel Turnbuckle Cable End Assembly ( All hardware shown in Detail H)    HW-918_01b EA. _____ $__________
141 4'-4" x 3'-8 1/2" x 3'-3" Precast Concrete Anchor Unit with anchor rod hardware       HW-918_01c EA. _____ $__________
142  1" Dia 10' Anchor Rod with Special washer an 1" Hex Nut for End Anchor Type "B"       217-B EA. _____ $__________
143 1" Dia 10 ft Anchor Rod for Anchor Type "C"      217-B EA. _____ $__________
144 1" Dia 11'-6" Anchor Rod for End Anchor Type "A"      217-B EA. _____ $__________



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

Guide Rail - Miscellaneous Parts (continued)
145 2 1/2" I.D. 10'-0" Galvanized Pipe ( For End Anchor - Type "B")       217-B EA. _____ $__________
146 5 1/2" Cable Splice     217-B EA. _____ $__________
147 7/8" Dia 7" Adjusting Stud ( Compensating Type Anchor)        217-B EA. _____ $__________
148 7/8" Dia, 16" Adjusting Stud ( For end Anchor Type "B")       217-B EA. _____ $__________
149 7/8" Dia. x 1'-2" Two Cable Turnbuckle - Stud     217-B EA. _____ $__________
150 Anchor Rod Yoke ( Compensating Type Anchor)     217-B EA. _____ $__________
151 Compression Spring ( Compensating Type Anchor)     217-B EA. _____ $__________
152 Double Socket Yoke with wedge Type Cable Connection ( For Type C Anchorage)      217-B EA. _____ $__________
153 Pipe Stop ( Compensating Type Anchor)       217-B EA. _____ $__________
154 Spring Retaining Washer ( Compensating Type Anchor)      217-B EA. _____ $__________
155 Wire Rope Support Brackets 217-B EA. _____ $__________
156 Wire Rope Support Brackets (For Two Rope Wires overlap at Intermediate Anchorages) 217-B EA. _____ $__________
157 1" Dia. X 10'-0" Anchor Rod - PB 200        M EA. _____ $__________
158 1" Dia. X 10'-0" Anchor Rod - PB 201        M EA. _____ $__________
159 Cable Connector - P99     M EA. _____ $__________
160 Cable Socket Block - PB304       M EA. _____ $__________
161 Closed End Socket - PB98A      M EA. _____ $__________
162 Offset Blocks for Intermediate Anchorages - P69       M EA. _____ $__________
163 Offset Blocks for Type "A" Anchorages - P67      M EA. _____ $__________
164 Special Flange - P88       M EA. _____ $__________
165 Splicer Cable with Hubbell Wedge        M EA. _____ $__________
166 Take Up Block - PB305       M EA. _____ $__________
167 1 1/4" Dia. X 19" Bent Rod for 3 Cable Wire (Steel Post)      217-C EA. _____ $__________
168 4" x 4" x 3/8", 7'- 11 1/2"  "L" Strut      217-C EA. _____ $__________
169 C 10 at 15.3 lbs, 15" length (for channel Anchor)      217-C EA. _____ $__________
170 1'-2" Cable End (Alternative) all hardware for Steel Post      217-E EA. _____ $__________
171 1'-2" Cable End all hardware for Steel Post       217-E EA. _____ $__________
172 2' Cable End (Alternative) all hardware for Wood Post      217-E EA. _____ $__________
173 2' Cable End all hardware for Wood Post      217-E EA. _____ $__________
174 Cable Splice      217-E EA. _____ $__________
175 Cable Splice (Alternative)       217-E EA. _____ $__________
176 Single Cable Compensating Device ( includes all hardware)       217-E EA. _____ $__________
177 2 1/2" I.D. , 9'-4" Galvanized Pipe      217-D EA. _____ $__________
178 Galvanized Steel Horseshoe  Shim        O EA. _____ $__________
179 Percentage off Guide Rail - Miscellaneous Parts not listed above ______%
180

Guide Rail - Plastic Blockouts
181 6" x 8" x 14" R-B 350 Plastic Blockout       HW-910_01 EA. _____ $__________
182 6" x 12" x 14 1/4" Deep Plastic Blockout      HW-910_05 EA. _____ $__________
183 3 1/2" x 4 1/2' x 5 1/2" Sloped Plastic Rubrail Blockout ( Detail A)       HW-910_06 EA. _____ $__________
184 4"x 1" x 7" Plastic Rubrail Blockout ( For Post#4)    HW-910_06 EA. _____ $__________
185 4"x 2" x 7" Plastic Rubrail Blockout ( For Post#3)       HW-910_06 EA. _____ $__________
186 4"x 3 1/4" x 7" Plastic Rubrail Blockout ( For Post#2)       HW-910_06 EA. _____ $__________
187 4"x 4 1/4" x 7" Plastic Rubrail Blockout ( For Post#1)       HW-910_06 EA. _____ $__________
188 6"x 3" x 13"Plastic Rubrail Blockout ( Detail B For Post#4)       HW-910_07 EA. _____ $__________
189 6"x 4 1/2" x 13" Plastic Rubrail Blockout ( Detail B For Post#3)       HW-910_07 EA. _____ $__________
190 6"x 6" x 13" Plastic Rubrail Blockout ( Detail B For Post#2)       HW-910_07 EA. _____ $__________
191 6"x 7" x 13" Plastic Rubrail Blockout ( Detail B For Post#1)       HW-910_07 EA. _____ $__________
192 6"x 8" x 14" Upper Blockout   HW-910_07 EA. _____ $__________
193 6" x 8" x 21 1/2"  Thrie-Beam Plastic Blockout (Detail C)       HW-910_13a EA. _____ $__________
194 14" x 10" x 6" Plastic Blockout HW-910_15 EA. _____ $__________
195 Percentage off Guide Rail - Plastic Blockouts not listed above ______%



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

Guide Rail - Plates
196 W-Beam Connection Bracket (consisting of 2-Bent Plates & Base Plate)     HW-910_08 EA. _____ $__________
197 1/4" x 8" x 24" Steel Plate (For Box Beam Post)     HW-910_10 EA. _____ $__________
198 3/16" x 5 3/4" x 7 3/4" Galvanized Steel Plate (Detail B End Cover Plate)     HW-910_10 EA. _____ $__________
199 Cover Plate (Detail "E")      HW-910_10 EA. _____ $__________
200 Rail Support Plate  (Detail "A")      HW-910_10 EA. _____ $__________
201 Splice Plate (Detail "C")    HW-910_10 EA. _____ $__________
202 Splice Plate For Expansion Joint (Detail "D")     HW-910_10 EA. _____ $__________
203 TS 8 x 6 x .25 Box Beam Rail Element for Beam End Assebly with End Cover Plate      HW-910_10 EA. _____ $__________
204 End Assembly for 8" x 6" Box Beam HW-910_10 EA. _____ $__________
205 End Cover Plate (Detail "B") for 8" x 6" Box Beam HW-910_10 EA. _____ $__________
206 1/4" Rail Support Plate for 8" x 6" Box Beam HW-910_10 EA. _____ $__________
207 6" x 3/8" x 2'-6" Bent Steel Splice Plate      HW-910_12b EA. _____ $__________
208 6" x 3/8" x 2'-6"Straight Steel Splice Plate      HW-910_12b EA. _____ $__________
209 Angled Attachment Bracket for Trailing End (for trailing end)     HW-910_12c EA. _____ $__________
210 Straight Attachment Bracket (for trailing end)      HW-910_12c EA. _____ $__________
211 2' x 2' Soil Plate      HW-910_17 EA. _____ $__________
212 5/8" x 8" x 8" Bearing Plate (ARTBA-FPBO1)      HW-910_17 EA. _____ $__________
213 Anchor Plate (ARTBA-FPAO1)      HW-910_17 EA. _____ $__________
214 1/4" x 3" x 27" Plate ( for w-beam concrete end anchor)      HW-910_18 EA. _____ $__________
215 1'-0" x 1'-1/4" W-Beam Backup Plate (Detail A)     HW-910_19a EA. _____ $__________
216 24" x 14" x 3/4" Anchor Plate with hardware ( for use in Rock Cut Slope)     HW-911_03 EA. _____ $__________
217 W6 x 8.5,  13" ( for offset Bracket)       910 EA. _____ $__________
218 Offset Bracket Three Cable Guide Rail      217-E EA. _____ $__________
219 8" x 3/4" x 1'- 3 1/4" Metal Beam Type Rail (Bridge Type "A") Base Plate with 6' WF 20 Post        O EA. _____ $__________
220 Percentage off Guide Rail - Plates not listed above ______%

Guide Rail - Steel Beams 
221 12'-6" W-Beam Metal Beam Rail - Weathering Steel ( 6'-3" Post Spacing) (12 GA.)    HW-910_02 EA. _____ $__________
222 12'-6" W-Beam Metal Beam Rail ( 6'-3" Post Spacing) (10 GA.)      HW-910_02 EA. _____ $__________
223 12'-6" W-Beam Metal Beam Rail ( 6'-3" Post Spacing) (12 GA.)     HW-910_02 EA. _____ $__________
224 12'-6" W-Beam Shop Bend (5 deg - 90 deg) (6'-3" Post Spacing) (10 GA.)     HW-910_02 EA. _____ $__________
225 12'-6" W-Beam Shop Bend (5 deg - 90 deg) (6'-3" Post Spacing) (12 GA.)    HW-910_02 EA. _____ $__________
226 12'-6" W-Beam Shop Bend (5 deg - 90 deg) Weathering Steel (6'-3" Post Spacing) (12 GA.)     HW-910_02 EA. _____ $__________
227 6'-3" W-Beam Metal Beam Rail - Weathering Steel ( 6'-3" Post Spacing) (12 GA.)      HW-910_02 EA. _____ $__________
228 6'-3" W-Beam Metal Beam Rail ( 6'-3" Post Spacing) (10 GA.)    HW-910_02 EA. _____ $__________
229 6'-3" W-Beam Metal Beam Rail ( 6'-3" Post Spacing) (12 GA.)     HW-910_02 EA. _____ $__________
230 6'-3" W-Beam Shop Bend (5 deg - 90 deg) (6'-3" Post Spacing) (10 GA.)    HW-910_02 EA. _____ $__________
231 6'-3" W-Beam Shop Bend (5 deg - 90 deg) (6'-3" Post Spacing) (12 GA.)   HW-910_02 EA. _____ $__________
232 6'-3" W-Beam Shop Bend (5 deg - 90 deg) Weathering Steel (6'-3" Post Spacing) (12 GA.)      HW-910_02 EA. _____ $__________
233 12'-6" W-Beam  Rubrail System 5A (10 GA.)     HW-910_04 EA. _____ $__________
234 12'-6" W-Beam  Rubrail System 5A (12 GA.)       HW-910_04 EA. _____ $__________
235 12'-6" W-Beam  Rubrail System 6, (10 GA.)       HW-910_04 EA. _____ $__________
236 12'-6" W-Beam  Rubrail System 6, (12 GA.)      HW-910_04 EA. _____ $__________
237 12'-6" W-Beam Metal Beam Rail - Weathering Steel (System 5 Post Spacing) (12 GA.)     HW-910_04 EA. _____ $__________
238 12'-6" W-Beam Metal Beam Rail - Weathering Steel (System 6 Post Spacing) (12 GA.)   HW-910_04 EA. _____ $__________
239 12'-6" W-Beam Metal Beam Rail System 5 Post Spacing, (10 GA.)      HW-910_04 EA. _____ $__________
240 12'-6" W-Beam Metal Beam Rail System 5 Post Spacing, (12 GA.)     HW-910_04 EA. _____ $__________
241 12'-6" W-Beam Metal Beam Rail System 6 Post Spacing, (10 GA.)      HW-910_04 EA. _____ $__________
242 12'-6" W-Beam Metal Beam Rail System 6 Post Spacing, (12 GA.)    HW-910_04 EA. _____ $__________
243 25' W-Beam Metal Rail System 5 Post Spacing, (10 GA.)    HW-910_05 EA. _____ $__________
244 25' W-Beam Metal Rail System 5 Post Spacing, (12 GA.)      HW-910_05 EA. _____ $__________
245 12'-6" W-Beam Rail Top Element (Spacing - 4'-8", 1'-7",1'-6 3/4" w bends)       HW-910_06 EA. _____ $__________



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

Guide Rail - Steel Beams (continued)
246 C6 x 8.2 Rubrail (Detail A)      HW-910_06 EA. _____ $__________
247 W-Beam Terminal Connector ( Detail C)       HW-910_06 EA. _____ $__________
248 12'-6" W-Beam  Rubrail (Spaces - 1'-6 3/4", 3'-1 1/2" with bend at 3' from end) (10 GA.)       HW-910_07 EA. _____ $__________
249 12'-6" W-Beam  Rubrail (Spaces - 1'-6 3/4", 3'-1 1/2" with bend at 3' from end) (12 GA.)       HW-910_07 EA. _____ $__________
250 12'-6" W-Beam Metal Beam Rail (Spacing - 1'- 6 3/4", 3'- 1 1/2") (10 GA.)    HW-910_07 EA. _____ $__________
251 12'-6" W-Beam Metal Beam Rail (Spacing - 1'- 6 3/4", 3'- 1 1/2") (12 GA.)    HW-910_07 EA. _____ $__________
252 11'-9" W-Beam Metal Beam Rail ( For Transition of Metal Beam Rail (Type MD-B 350) to (Type R-I)) (10 GA.) HW-910_09a EA. _____ $__________
253 12'-6" W-Beam Metal Beam Rail (Transition of Metal Beam Rail (Type MD-B 350) to (Type R-I))  (10 GA.)      HW-910_09a EA. _____ $__________
254 TS 8 x 6 x .25, 18'-0" length (For Box Beam rail element)     HW-910_10 EA. _____ $__________
255 6" x 3/8" x 13'-6" Steel Transition Rail (For Leading End Attachment)     HW-910_12a EA. _____ $__________
256 4'-9" x 6" x 3/8" Steel Rail for Merritt Parkway HW-910_12a EA. _____ $__________
257 6" x 3/8" x 4'-9" Steel Rail ( For Curves with R< 70')      HW-910_12b EA. _____ $__________
258 6" x 3/8" x 9'-6" Standard Steel Rail       HW-910_12b EA. _____ $__________
259 13'-6 1/2"  Thrie-Beam Rail - Weathering Steel (10 GA.) (Detail A)    HW-910_13a EA. _____ $__________
260 7'-3 1/2" Thrie-Beam Rail Transition Element - Weathering Steel (10 GA.) (Detail B)    HW-910_13a EA. _____ $__________
261 7'-3 1/2"  Thrie-Beam Rail Transition Element 10 GA. (Detail B)      HW-910_13a EA. _____ $__________
262 13'-6-6 1/2" Thrie-Beam Rail (10 GA.) (Detail A) HW-910_13a EA. _____ $__________
263 13'-6 1/2" Thrie-Beam Metal Beam Rail (12 GA.) (Post Spacing For Bridge Attachment) HW-910_14a EA. _____ $__________
264 2'-6"  Thrie-Beam Terminal Connector (10 GA.)    HW-910_14a EA. _____ $__________
265 13'-6 1/2" Thrie-Beam Metal Beam Rail (12 GA.) (Post 6'-3" Post Spacing)     HW-910_14b EA. _____ $__________
266 7' - 3 1/2"  Thrie-Beam Transition Element (12 GA.)       HW-910_14b EA. _____ $__________
267 5'-3" x 6" MD-8 350 C6 x 8.2 Shop Bent and Fabricate Rubrail HW-910_15 EA. _____ $__________
268 2'-0" x 1'-1/4" Rounded W-Beam End Section    HW-910_17 EA. _____ $__________
269 Metal Beam Rail (Twisted 90 degree) for MD-I End Anchor Type I       HW-910_18 EA. _____ $__________
270 W-Beam Terminal Element (Detail C) for W-Beam Rail Anchors      HW-910_18 EA. _____ $__________
271 Metal Beam Rail (Twisted 90 degree) for End Anchor Type II      HW-910_19b EA. _____ $__________
272 Metal Beam Rail (Twisted 90 degree) for End Anchor Type I       HW-911_01 EA. _____ $__________
273 Metal Beam Rail (Twisted 90 degree) for MD-B End Anchor Type I       HW-911_02 EA. _____ $__________
274 W15 x 86.5 (Galvanized) Beam (Detail C)       HW-911_05 EA. _____ $__________
275 Bridge Parapet Finger Panel 12 GA. 911C/910-E EA. _____ $__________
276 10" x 1'-1/2" x 1'-3 1/2" Metal Beam Type Rail (Bridge Type "B") Base Plate with 6' WF 20 Post     O EA. _____ $__________
277 Percentage off Guide Rail - Steel Beams not listed above ______%

Guide Rail - Steel Blockouts
278 W14 x 22, 17" Thrie-Beam 350 Blockout     HW-910_14b EA. _____ $__________
279 W14 x 22, 17" Steel Offset Block (for post 7)      HW-910_14b EA. _____ $__________
280 W14 x 18, Steel Blockout     HW-910_14b EA. _____ $__________
281 Percentage off Guide Rail - Steel Blockouts not listed above ______%

Guide Rail - Steel Posts
282 W6 x 8.5, 6'-0"  Galvanized Post      HW-910_01 EA. _____ $__________
283 W6 x 8.5, 6'-0"  Weathering Steel Post       HW-910_01 EA. _____ $__________
284 W6 x 9, 6'-0"  Galvanized Post (Note 2)      HW-910_01 EA. _____ $__________
285 W8 x 13, 7'-6"  Galvanized Post       HW-910_01 EA. _____ $__________
286 W8x13, 7"-6"  Post ( For Posts 1 & 2 )      HW-910_06 EA. _____ $__________
287 S3 x 5.7, 4' - 5 3/4" length Post (Post for End Assembly)      HW-910_10 EA. _____ $__________
288 S3 x 5.7, 6" length Post ( Post for Box Beam Rail)    HW-910_10 EA. _____ $__________
289 4'-5 3/4" - 8" x 6" Box Beam Post HW-910_10 EA. _____ $__________
290 S3 x 5.7, 6'  for 8" x 6" Box Beam HW-910_10 EA. _____ $__________
291 W6 x 15, 6'-6" Steel Post ( For roadway with Curb)   HW-910_12b EA. _____ $__________
292 W6 x 15, 6'-6" Steel Post ( For roadway with No Curb)    HW-910_12b EA. _____ $__________



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

Guide Rail - Steel Posts (continued)
293 W6 x 15, 7'-6" Steel Post ( For roadway with Curb - Note 8)       HW-910_12b EA. _____ $__________
294 W6 x 15, 7'-6" Steel Post ( For roadway with No Curb - Note 8)      HW-910_12b EA. _____ $__________
295 W6 x 15.5, 7'-6" Galvanized Steel Post HW-910_12b EA. _____ $__________
296 W6 x 15, 6'-6" Galvanized Post        HW-910_12d EA. _____ $__________
297 W8 x 13, 7'  Thrie-Beam Post  (Detail D)     HW-910_13a EA. _____ $__________
298 W6 x 20, 7' Steel Post (for post 4, 5 & 6)     HW-910_14a EA. _____ $__________
299 W6 x 25, 8'-6" Steel Post (for post 1, 2 & 3)     HW-910_14a EA. _____ $__________
300 W6 x 9, 7' Steel Post (for post 7)      HW-910_14a EA. _____ $__________
301 W8 x 18, 7' Steel Post (for post 4, 5 & 6)       HW-910_14a EA. _____ $__________
302 W8 x 21, 8'-6" Steel Post (for post 1, 2 & 3)      HW-910_14a EA. _____ $__________
303 S3 x 5.7, 5'-3" Post with 8" x 24" Steel Soil Plate - Modified R-I     HW-910_18 EA. _____ $__________
304 S3 x 5.7, 6'-3" Post with 8" x 24" Steel Soil Plate  - Modified R-I HW-910_18 EA. _____ $__________

305 S3 x 5.7, 5'-3" Post with 8" x 24" Steel Soil Plate ( Detail A hole pattern) - Three Cable
HW-918_01a 
(rev. date 
7/13)

EA. _____ $__________

306 S3 x 5.7, 6'-3" Post with 8" x 24" Steel Soil Plate (Detail A hole pattern) - Three Cable 
HW-918_01a 
(rev. date 
7/13)

EA. _____ $__________

307
HW-918_01a 
(rev. date 
1/12)

EA. _____ $__________

308
HW-918_01a 
(rev. date 
1/12)

EA. _____ $__________

309
HW-918_01a 
(rev. date 
1/12)

EA. _____ $__________

310
HW-918_01a 
(rev. date 
1/12)

EA. _____ $__________

311 S3x7.5 Anchor Post ( including all hardware for cable support & slip impact assembly) - Three Cable HW-918_01c EA. _____ $__________
312 S3x7.5 Anchor Post ( incl. all hardware for cable support & slip impact assembly) - Three Cable - Weathering Steel HW-918_01c EA. _____ $__________
313 W6 x 8.5,  6'-0" post ( hole pattern for steel bracket)       910 EA. _____ $__________
314 W6 x 8.5,  7'-6" post ( hole pattern for steel bracket)    910 EA. _____ $__________
315 Steel post for Combo End Post & Internediate Anchor Post -Type "A"  - Three Cable 217-C EA. _____ $__________
316 Steel post for Combo End Post & Internediate Anchor Post -Type "B"  - Three Cable 217-C EA. _____ $__________
317 Steel Post for Line Post  - Three Cable 217-C EA. _____ $__________
318 Percentage off Guide Rail - Steel Posts not listed above ______%

Guide Rail - Wood Beams
319 4" x 8" x 11' Pressure Treated Rough Sawn Timber Rail with 2 holes for Merritt Parkway   HW-910_12a EA. _____ $__________
320 5" x 6" x 12' Pressure Treated Rough Sawn Timber Rail with 8 holes for Merritt Parkway   HW-910_12a EA. _____ $__________
321 6" x 12" x 10' Pressure Treated Rough Sawn Timber Rail with 10 holes for Merritt Parkway   HW-910_12a EA. _____ $__________
322 6" x 12" x 10' Pressure Treated Rough Sawn Timber Rail with 8 holes for Merritt Parkway     HW-910_12a EA. _____ $__________
323 6" x 12" x 14' Pressure Treated Rough Sawn Timber Rail with 16 Holes for Merritt Parkway    HW-910_12a EA. _____ $__________
324 6" x 12" x 14' Timber Rail with 30 degree Beveled End      HW-910_12a EA. _____ $__________
325 6" x 12" x 10' Rough Sawn Timber Rail HW-910_12b EA. _____ $__________
326 6" x 12" x 14' Timber Rail  ( no bevel end for Type III anchor)    HW-911_05 EA. _____ $__________
327 Percentage off Guide Rail - Wood Beams not listed above ______%

Guide Rail - Wood Block Outs
328 6" x 12" x 14 1/4" Wood Blockout     HW-910_05 EA. _____ $__________
329 4" x 8" x 11" Wood Block Out     HW-910_12a EA. _____ $__________
330 6" x 8" x 18" Treated Timber Offset Block (for post 1-6)    HW-910_14a EA. _____ $__________
331 Percentage off Guide Rail - Wood Blockouts not listed above ______%

Guide Rail - Wood Posts
332 6' x 6" x 8" Control Released Timber (CRT) Post      HW-910_05 EA. _____ $__________

S3 x 5.7, 6'-3" Post with 8" x 24" Steel Soil Plate (Detail A hole pattern) - Three Cable 

S3 x 5.7, 6'-3" Post with 8" x 24" Steel Soil Plate (Detail A hole pattern) - Three Cable  - Weathering Steel

S3 x 5.7, 5'-3" Post with 8" x 24" Steel Soil Plate ( Detail A hole pattern) - Three Cable

S3 x 5.7, 5'-3" Post with 8" x 24" Steel Soil Plate ( Detail A hole pattern) - Three Cable - Weathering Steel



Unit Min.

Item Catalog Mgnt  #. Drawing Of Ship

No. (internal use only) No. Measure QTY

BIDDER NAME:_____________________________
DELIVERY TERMS:_____________________________

SOLICITATION NO.:EXHIBIT B, SP-16
PRICE SCHEDULE 16PSX0153

UNIT PRICE

DELIVERED NET

ADDENDUM 5

DESCRIPTION OF COMMODITY AND/OR SERVICES

333 6" x 8" x 6'  CRT Post (Post for Curved Guide Rail Section "A")     HW-910_11 EA. _____ $__________
334 5 1/2" x 7 1/2" x 3'-6" Timber Terminal Post (Detail C) (ARTBA-PDFO1)      HW-910_17 EA. _____ $__________
335 6" Dia, 6'-8" wood post with Domed Top for Two Cable Guide Rail      217-B EA. _____ $__________
336 6'-8" Two Cable Wood Post 217-B EA. _____ $__________
337 8" Dia, 6'-8" Intermediate Wood Anchor Post "A"      217-D EA. _____ $__________
338 8" Dia, 6'-8" Intermediate Wood Anchor Post "B"    217-D EA. _____ $__________
339 8" Dia, 6'-8" Wood End Post      217-D EA. _____ $__________
340 8" Dia, 6'-8" Wood Line Post     217-D EA. _____ $__________
341 Percentage off Guide Rail - Wood Posts not listed above ______%


	Sheet1

